
Name:_________________________ Date:___________________

Rewrite vertically and solve.

603 + 77 =

Rewrite vertically and solve.

651 – 61 =

Rewrite vertically and solve.

664 × 5 =

Rewrite vertically and solve.

487 ÷ 6 =

Find the sum.

3
54 1

58+ =

 - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - 
-

Name:_________________________ Date:___________________

Rewrite vertically and solve.

927 + 65 =

Rewrite vertically and solve.

951 – 33 =

Rewrite vertically and solve.

243 × 3 =

Rewrite vertically and solve.

260 ÷ 6 =

Find the difference.

5
89 6

84– =
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